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Dokumen ini mengandungi 14 halaman bercetak 
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ANSWER SCHEME 

 

No. Marking Scheme 
Sub 

marks 
Marks 

1 

 

 

          * 2( 2) 5
y

x
x
= − +

 
 

 

 

 

K1 

 

 

 

K1 

 

 

N1 

 

 

 

 

 

3 

 

2 

 

 
 
 
 

 

 

 

K1 

 

 

N1 

 

 

2 

 

 

 

3(a) 

 

 

 

 

 

 

 

 

  (b) 

 

 

 

 
4(4) 10− +  

 
 

 

 

 

 

 

 

 

 

 
 

 

K1 

 

 

 

 

N1 

 

 

 

 

K1 

 

 

 

K1 

 

 

 

 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

 

 

   
5 ( 3)

0 4

− −

−
  OR  3 (4) 5m− = +  

32 5y x x= − +  

( )
21

12.5 (2(3.142) 5.02)
2

−  

 

 98.75 // 98.69  

Differentiate 
22 10 12y x x= − + +  

and substitute 4x =  

6−  

Use 1 2 1m m = −  

26 1m−  = −  

Use 1 1( )y y m x x− = −  

*
1

20 ( 4)
6

y x
  

− = −  
   

 

OR 

Use  y mx c= + and solve for c 
*

1 58
20 (4) ,  

6 3
c c

  
= + =  

   
 

1 58

6 3
y x= +  or equivalent 
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No. Marking Scheme 
Sub 

marks 
Marks 

4(a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

K1 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  (b)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

P1 

 

K1 

 

 

 

 

N1 

 

 

 

 

 

K1 

 

K1 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

( )3 2 1
12 000

2 1

n −
  

−  

 

12 

 

to 

fin

d n.   

 

ALTERNATIVE A 

 

to find n.   

 

*12 1S −  

 

to 

find 

n.   

 

Seen or implied 

 

to find n.   

 

( )*113 2 1

2 1

 −
 
 −
 

 

 

to find n.   

 

ALTERNATIVE B 

 

to find n.   

 

Use ( )
( )*12

*12 1

*12 *12

3 2 1
3 2  AND  

2 1
T S

− −
= =

−
   

 

 

*12 *12S T−  

  ( )
( )

*12

*12 13 2 1
3 2

2 1

−−
−

−
 

  
6141 

 

to 

find 

n.   

 

6141 

 

to 

find 

n.   

 

5 
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No. Marking Scheme 
Sub 

marks 
Marks 

5(a)  
 
 
 
 

                                                                             
                                            

 

 

 

 

                                            

 

                                                            

 

                       −         
1

2
                      

 

( )( )2 1 1 0x x− +   

 
 
                                 
                                              

                                           
1

2
 

1

2
x       

                                               

 
  

 

( )2 1x −  −  −  +                ( )1 2x−    + + −  

( )1x +  −  + +                ( )1x +    −  + + 

( )2 1 ( 1)x x− +  + −  +            ( )1 2 ( 1)x x− +     −  + −  

 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

K1 

P1 

 +  

-1 

  + 

x 

 -1 

1

2
 

-1 

or  
OR 

22 1 0x x+ −   or 22 1 0x x− − +   or equivalent 

or  

( )( )2 1 1 0x x− +   ( )( )1 2 1 0x x− +   

−  

 +  

 

+  

 

+  

 

−  +  

 
+  

 

−  +  

 

+  

 

−  

 

−  

 −  

−  −  +  

 

1−  1−  1

2
 

-1  

or    

1

2
 

 -1 

1

2
 

−  

or  

 
1

1 ,
2

x x −   
N1 

 Notes: 

For number line and table, must include factorization. 

For graph, no factorization is needed. 

 

( )( )2 1 1 0x x− − +   

 +  

x 
-1 1

2
 

 

1x  −  1
1

2
x−    

1

2
x   

1
1

2
x−    1x  −  

OR 

OR 
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No. Marking Scheme 
Sub 

marks 
Marks 

 

(b) 

 
 
 
 
 
 
 
 
 
 
 

 

 

K1 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

6(a) method to find angle AOB 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

  

 

 

 
 

 

 

                               

 

 

K1 

 

   N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6 

 

 

 

 

 

 

 

 

 

 

(b) 

 

 

 

 

 

 

 

   K1 

 

 

K1 

 

 

 

 

 

 

 

 

K1 

 

 

N1 

 

 

 

 

 

 

 

2 2

2 0
2 2

b b

b ca a
a x x

a a

       
       

       + + − + =
    
    

    

 

2 4

2

b b ac
x

a

−  −
=  

0.963 

 

to 

find 

n.   

 

 

 
55.15

2 sin
2

r
 
 
 

 OR 

2 2 2 o2 cos55.15r r r+ − OR  

2 27 4−  or 
o7sin55.15  or 

o4 tan55.15 OR Sine Rule OR Cosine Rule 

or any valid method to find AB or chord PR 

 

 

 

 

2 255.15
0.963 2 sin 7 4 7 4

2
r r+  + + −   

 

7 8.865r   

0.963r   

 

1 4
cos

7

−  OR Sine Rule  OR 
33

sin
7

 = OR Cosine Rule or any valid method 

 

5 

Notes : 

2 2

2

4

2 4

b b ac
x

a a

− 
+ = 

 
must be seen 
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7(a) 

 
 

 (b) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(c) 

 

  

 

 

 

 

 

 

 

  

 

 

 

 

 

 

K1 

 

 

 

 

 

 

 

 

N1 

 

 

K1 
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(a)(i) 
 

   (ii) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

N1 

 

 

K1 

 

 

 

 

K1 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

OQ OP PQ= +  OR 

OQ OR RQ= +  OR 

RN RQ QN= + OR 

RN RO ON= +  

6 

p r+  

2 22 1− or 
o2cos30 or 

o2sin 60  

3.464 // 2 3  

1 1

2 2
p r−  

24 

2 7 2 7

1 2 2 1orC C C C   OR  

9

3C  or 
7

3C  

49 

2 7 2 7

1 2 2 1C C C C +   OR 

9 7

3 3C C−   

P1 

N1 

N1 
6 
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(b)(i) 

 

 

   (ii) 

 

 

 

 

 

 

 

N1 

 

 

 

K1 

 

 

 

K1 

 

 

N1 

 

 

9(a) 

 
 

 (b) 

 

 

 

   

 

 

 

 

 

 

                          

                

 

                 

 

 

 

 

 

  
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

N1 

 

 

K1 

 

 

K1 

 

 

 

K1 

 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

1320  

4

1 3!P   or  
3 9

2 1 8P P   or 

( )4 3 9

1 1 12C C P    or 4 3 3 3

3 1 1 1P P P P      

4 3 9

1 2 1 81320  3!P P P − −   OR

( )4 3 9 4 3 3 3

1 1 1 3 1 1 12C C P P P P P   +     

864  
8 

3 2 2y x x x= − − +  

3 2 2 0x x x− − + =  

0, 2,  1x = −  

Integrate 
* y  wrt x and use limit 

0

* 2−

 or   

*1

0

  

1 2 1I I  ; I 0+   

8 5

3 12
− +   

 

37

12
 5 
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No. Marking Scheme 
Sub 

marks 
Marks 

 

10(a) 

 

 

 

 

 

 

 

 

 

 

 

 

    (b) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

P1 

 

 

K1 

 

 

 

N1 

 

 

 

 

 

K1 

 

 

 

K1 

 

 

 

 

 

 

 

 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 
 

 

 

6 

Find gradient PQ or *SP or *SQ and use 1 2 1m m = −  

Use ( )1 1y y m x x− = −   

*

* *3
( 8) ( 5)

4
y x
  

− − = −  
   

 

( )1(4) 3 121( 4) 3(8)
,

3 1 3 1

 + −− +
 

+ + 
 

( )5, 8−  

OR 

Use y mx c= + and solve for c 

*
3 47

8 (5) ,
4 4

c c
  
− = + = −  

   

 

3 47

4 4
y x= −  or equivalent 

3:1  
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11(a) 

 

 

 

 

 
 

 

 

 

 

(b)(i) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   (ii) 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 
   

 
 
 
 
 
 
 
 
 
 
 
 
 

   

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 

 

P1 

 

 

 

 

 

 

 

 

K1 

 

 

 

N1 

 

 

 

 

K1 

 

 

 

 

 

 

 

N1 

 

 

 

K1 

 

 

N1 N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Arithmetic progression is a sequence of numbers such that each 

term is obtained by adding a constant to the term before it. 

( )
15

2 15 1 360
2

a d + − =   or ( )
15

38 360
2

a+ =  

170 

 
15

2 14 360
2

a d+ =   

and 

( )15 1 38a d+ − =  

Janjang aritmetik ialah suatu jujukan nombor dengan setiap sebutan 

diperoleh dengan menambahkan satu pemalar kepada sebutan 

sebelumnya.  

1 & 17d a= =  3 & 3d a= =   

OR  

 or  OR 

 

  

 

M1 

M3 

M2 

 and  

 

 

M1 
M2 

M3 
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No. Marking Scheme 
Sub 

marks 
Marks 

 

12(a) 

 

 

 

 

 

 

 
 

  (b) 

            Use 
 
 
 
 
 
 
 

 

 
 

 

K1 

 

 

 

N1 

 

 

 

 

K1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

K1 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

( )
03 3

3 1 –  512C p p s=  or ( )3 30

0 1 –  8C p p s=  

0.384 

38 s   

3 38 1 2s s= −  and solve for s 

( ) ( )
2

3 3 3
2 8 0.001 1 8 0.001C −  OR 

( ) ( )( )
2

3 33

2 1 2 0.001 1 1 2 0.001C − − −  

or equivalent 
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No. Marking Scheme 
Sub 

marks 
Marks 

13 

(a)(i) 

 

(ii) 

   

(iii) 

 

   

 

 

 
 

(b) 

 

 

 

 

 

 

 

 

 
 

(c) 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

N1 

 

N1 

 

K1 

 

 

 

N1 

 

 

K1 

 

 

 

 

 

 

N1 

 

 

 

 

K1 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

( )
18

( )
17 3 4

f y
y

=
− −

 

  

 

17 

3 

4

3

x
x

+
=  

2x =  

( )1 3 4g x x− = −  & ( )
( )

*

18

17 3 4
f x

x
=

− −
 OR 

 

6
,   7

7
x

x


−
 

*
6

6
7 7

x

 
− − 
 

  OR 
*

6
7

6

7 x

−
 
 

− 

 

 

( ) ( )fh x hf x x= =  
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No. Marking Scheme 
Sub 

marks 
Marks 

 

14(a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

 

P1 
 
 

 

K1 
 

 

 

 

K1 
 

 

 

 

N1 

 

 

  (b) 

 

 

 

 

 

 

 
 

  (c) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 

 

 

 

 

 

 

 
 

 
 

K1 
 
 
 

    N1 

 

 

 

 

K1 

 

 

 

 

 

N1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8 

 

 

 

 

 

 

 

2
1

( 3 1)
3 1


 

− 
+ 

 

*

3 1 4 2 3

4 2 3 4 2 3

   − −

      + −   
 

*

4 3 2(3) 4 2 3

16 12


 − − +
  − 

 

5 3
3

2 2


 
− + 
 

 

Notes: 

1. The numerator and denominator must contain at least 2 terms with a surd  

2. If there is only 1 term in numerator, K0N0  

 

1 33900000
ln

2 33200000
r

 
=  

 
 

1.043 

Use ( )
n

m mna a=   

( ) ( )5  or 3
r r

p q   

 

 

Hazwan , 5 3p q   

 

 

Notes: 

300 , 500p r q r =  =  

where ,  and p q r  
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15(a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   (b) 

  

K1 

 

 

K1 

 

 

 

N1 

 

 

N1 

 

 

 

 

 

 

P1 

 

 

 

K1 

 

 

 

K1 

 

 

 

 

 

 

N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

( )221 1 sin 8sin 16x x− = +  

( )( )3sin 1 7sin 5 0x x− + =  

ο ο ο ο19.47 ,45.58   //  19 28 ,45 35   

ο ο ο ο

ο ο ο ο

19.47 ,160.53 ,225.58 ,314.42 //

19 28 ,160 32 ,225 35 ,314 25   
 

tan50
h

p
=  

2

2 tan 25

1 tan 25

h

p
=

−
 

22 (2 ) 4( )( )

2

p p h h

h

−  − −
 OR 

2 2

2 o o

2 2

2
tan 25 tan 25 1 0

2 2

p p

p h h

h

   
   

+ + − − =   
   
   

 

 2 2p p h

h

− + +
 8 

ALTERNATIVE A 
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Sub 
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Marks 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 

 

 

 

 

 

 

                  
 
 

 
 
 
 
 

 
 
 

 

 

 

 

 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

 

 

 

P1 

 

 

K1 

 

 

 

K1 

 

 

 

N1 
 

 

 

 

 

 

 

P1 
 

 

K1 
 

 

 

 

K1 
 

 

 

 

N1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

ALTERNATIVE B 

8 

2 2p h+  

2 2
cos50

p

p h
=

+
 

1 cos50

2

cos50 1

2

−

+
 or 

2 2

2 2

1

1

p

h p

p

h p

−
+

+
+

 

2 2p p h

h

− + +
 

ALTERNATIVE C 

2 2p h+  

2 2
cos50

p

p h
=

+
 or 

2 2
sin 50

h

p h
=

+
 

2 2

2 2
1

h

h p

p

h p

+

+
+

 

2 2p p h

h

− + +
 

8 


